
15
7 

15
11

 
20

34
 

15
11

 
15

7 

18
53

 

68
8 

53
70

 

67
5 

U100 
 

VIKINGBOOT (voorsteven) 
BATEAU VIKING (proue) 
WIKINGERSCHIFF 
(Vordersteven) 
VIKING BOAT (stem) 

Montagehandleiding 
Notice de montage 
Assembling manual 
Montageanleiting 

 

Leeftijd: 
Age: 
Age group: 
Alter: 
Edad: 

3 - 12 

 
Manual de Montaje 
Torre-Vigía 
tel. 660 65 30 03 
fax.963 57 75 76 
www.martinmena.es 

BARCO VIKINGO - (proa) Instrucciones para el montaje Dat.: 
Page: 

12/04/2013 
1/14 

 

VALHOOGTE / HAUTEUR DE CHUTE 
FALL HEIGHT / FALLHÖHE / ALTURA DE CAÍDA 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

VEILIGHEIDSAFSTAND / ESPACE DE CHUTE / SAFETY AREA / 
SICHERHEITSABSTAND / ZONA DE SEGURIDAD 

 
2508 1737 3058 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
AFMETINGEN 
DIMENSIONS 
MASSE 
DIMENSIONES 
L : 4935 mm 

 
 
 
 
7303 

H: 3360 mm 
Br: 2598 mm 



A 
 
 
 
 

1x 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

21 kg 

BL 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1x 
 
 
 
 
 

9,5 kg 

BR 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1x 
 
 
 
 
 

9,5 kg 

C 
1x 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

18,5 kg 

DL 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1x 
 
 

8 kg 

DR 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1x 
 
 

8 kg 

E 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1x 
 

7,5 kg 

F 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

3,6 kg 
 
 
 
 
 

2x 

        
  

1,57 m  35 x 95  
1x  G 1,35 m  35 x 57  1x  I 

 

 1x H 
1,53 m  35 x 95 

1x K 
1,05 m  35 x 95 

 

 J 
2,14 m  35 x 95  1x 

  1x  L 
1,309 m  46 x 95 

 

 1x ML 1x Q  

 1x MR 
1,76 m  46 x 95 

1x R 
0,95 m  57 x 16 

 

 1x  NL 
1,377 m  46 x 95 

2x V 
1,089 m  22 x 95 

 

 1x  NR 
1,377 m  46 x 95 

1x T 
0,91 m  22 x 120 

 

 1x  OL 
1,183 m  46 x 95 

1x W 
1,1 m  46 x 95 

 

 1x  OR 1x X  

 1x  PL 
1,2 m  46 x 95 

1x PR 
1,2 m  46 x 95 

 

 

Ø
14

  L
: 2

,8
m

 

Ø
12

  L
: 1

,7
5m

 

Ø
12

  L
: 1

,7
5m

 

Ø
12

  L
: 3

,3
 m

 

Ø
12

  L
: 1

,5
m

 

Ø
12

  L
: 1

,5
m

 

Ø
12

  L
: 1

,4
m

 

Ø
12

  L
: 0

,6
5m

 

 

 

U100 Montagehandleiding  -- Assembling manual 
Instrucciones para  el montaje 

Notice de montage -- Montageanleiting 

Dat.:  12/04/2013 
 

Page:  2 / 14 
 

Benodigdheden  -- Liste des pièces -- Requisites -- Benötigtes -- Accesorios 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1,76 m  46 x 95  0,862 m  46 x 95 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1,183 m  46 x 95  1,02 m  46 x 95 



 

1x  L311 
L: 1926 

 

 

1x  L312 
L: 1826 

 

 

1x  L: 1835 L313 
 

 

1x  L314 
L: 1697 

 

 

1x  L315 
 

4x  L: 921 L316 
 

 
9x 

 

1x  

 

 

8x  M10 x 170 
22x  x 160 
5x  x150 
6x  x140 

 

 

1x  M10 x 290 
2x  x 270 
2x  M8 x 60 

 

6x  M10 x 100 
31x  M8 x 70 
19x  x 80 
2x  x 110 

 

 

61x  M10 
2x  M8 

 

65x  M10 
54x  M8 

 

 

45x  M10 
11x  M8 

 

 

15x  4,5 x 40 
110x  4,5 x 50 

 

4x 48x 2x 

   
 

 

 
 

  1x     
 

  
 
 

1x 

  
 

2x 

  
 
 

1x 

  

               1x 
 1x  1x 

 
 
 

+ 

  
 
 
 

1x 

  
 
 
 

+  1x 
 

                                  1x 
 

 
2x 

 

 
4x 

  
 

 

 

U100 Montagehandleiding  -- Assembling manual 
Instrucciones para  el montaje 

Notice de montage -- Montageanleiting 

Dat.:  12/04/2013 
 

Page: 3 / 14 
 

Benodigdheden  -- Liste des pièces -- Requisites -- Benötigtes -- Accesorios 
 

 
 

 
 
 
 

L:1706 



30
58

 
17

37
 

25
08

 

30
63

 

40
0 

15
80

 
60

0 
40

0 

60
 

40
58

 
49

48
 

73
03

 

 

 

U100 
Montagehandleiding  -- Assembling manual 

Instrucciones para  el montaje 
Notice de montage -- Montageanleiting 

Dat.:  12/04/2013 
 

Page: 4 / 14 
 

1 
 
 

157  1511  2034  1511  157 
 
 
 
 
 
 
 
 
 
 
 
 
 

600 
 
 
 
 
 

1450 
 
 
 
 
 
 
 
 
 
 

1793  1788 
 

2685 
 
 
 
 
 

1912  1729 
 

 
 
 
 
 
 
 
 
 

5370 
 
 
 
 

400 
 
 
 
 
 
 
 
 

640 



 

U100 
Montagehandleiding  -- Assembling manual 

Instrucciones para  el montaje 
Notice de montage -- Montageanleiting 

Dat.: 12/04/2013 
 

Page: 5 / 14 
                                                  

60
 

 
 

M10 
3 L 

 
 
 
M10-160 

 
 

DL M10
 

M10-160  DR 
 
 

M10  
M10-170  E 

 

M10-170 
 
 
 
 
 
 

J K 
M10-170 

M10-160 
 

M10  M10-170 
 
 
 
 
 

MM1010 

 

1 
 
 
 
 
 
 
 
 

 



 

 

U100 
Montagehandleiding  -- Assembling manual 

Instrucciones para  el montaje 
Notice de montage -- Montageanleiting 

Dat.:  12/04/2013 
 

Page: 6 / 14 
 
 

4 
 
 
 

C 
 
 
 
 
 
 
 

C 
 
 
 
 

BL 
M10-160 

 
 

X BR 
 
 

M10-160 
 
 

G 
 

X 
M10-170 

M10 X 100 

H M10-150    
 
 

G 
H 

 

I 
 

M10-150   I 

M10 X 100 

 
 

M10-150 



60
 

 

 

U100 Montagehandleiding  -- Assembling manual 
Instrucciones para  el montaje 

Notice de montage -- Montageanleiting 

Dat.:  12/04/2013 
 

Page: 7 / 14 
 

5 
 
 
 
 
 
 
 
 

995 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

OL M10-160 
 

 
 

W 
 
 
 

OR 
M10-160 

 
 
 
 
 

PL 
 

 
 
 
 
 
 

M10-160 
 

M10-160 
 
 
 

PR M10-160 
 

M10-160 



26
42

 

 

 

U100 
Montagehandleiding  -- Assembling manual 

Instrucciones para  el montaje 
Notice de montage -- Montageanleiting 

Dat.:  12/04/2013 
 

Page: 8 / 14 

6 1806 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

M10-160 
 
 
 

ML 
A 

 
 
 
 
 
 

M10-160 

M10 x 270 
 

 
M10-160 

MR 
 

 
 

M10 x 270 
 

 
M10-160 

NL NR 



 

 

U100 
Montagehandleiding  -- Assembling manual 

Instrucciones para  el montaje 
Notice de montage -- Montageanleiting 

Dat.:  12/04/2013 
 

Page: 9 / 14 
 

7 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

M8 x 80 
 

M8 x 80 
2x 

 
 

M8 x 70 
6x  M8 x 70 

4x 

 
 
 

8 
 
 
 
 
 
 
 
 
 
 

M8 x 70 
 
 

M8 x 80 
M8 x 70  M8 x 80 

 
 

M8 x 80  M8 x 70 
 

M8 x 80 
 
 

M8 x 70  V 
 
 

4,5 x 50 
6x 



 

 

U100 Montagehandleiding  -- Assembling manual 
Instrucciones para  el montaje 

Notice de montage -- Montageanleiting 

Dat.: 12/04/2013 
 

Page: 10 / 14 
 
 

9 
 
 
 
 
 
 
 
 
 
 
 

M8 x 110 
 
 
 

Q 
 
 
 

M8 x 110 
 
 

R 

 
 

10 
 
 
 

4,5 x 50 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

T 



 

 

U100 
Montagehandleiding  -- Assembling manual 

Instrucciones para  el montaje 
Notice de montage -- Montageanleiting 

Dat.: 12/04/2013 
 

Page: 11 / 14 
 

11 12 
 
 
 
 
 

M10 x 290 
 
 
 
 
 

K 
 
 

A 
 

 
 
 
 
 
 
 
 
 

M8 x 70 
3x 

 
 

13 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

M8 x 80 
M8 x 80 

 
 
 

M10-170  M10-170 
 
 
 
 
 
 

M8 x 80  M8 x 80 



 

 

U100 
Montagehandleiding  -- Assembling manual 

Instrucciones para  el montaje 
Notice de montage -- Montageanleiting 

Dat.: 12/04/2013 
 

Page: 12 / 14 
 
 

14 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

M8 x 60 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

M10-140 
 
 

M10-140 
 
 
 
 

M10-140 
 
 
 

M10-140 
 
 
 
 
 
 
 
 
 
 
 
 

M10-140 M10-140 



20
0 

19
12

 

 

 

U100 Montagehandleiding  -- Assembling manual 
Instrucciones para  el montaje 

Notice de montage -- Montageanleiting 

Dat.: 12/04/2013 
 

Page: 13 / 14 
 
 

15 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

M10 X 100 

F 
 
 
 
 
 
 
 
 

M10-160 
 
 
 
 
 

M10-160 
 
 
 
 
 
 

M10 X 100 
 

 
 
 
 
 
 
 

16 
 

 

 
 
 

600 400 400 400 



 

U100 
Montagehandleiding  -- Assembling manual 

Instrucciones para  el montaje 
Notice de montage -- Montageanleiting 

Dat.:  12/04/2013 
 

Page: 14 / 14 
 

17 19 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

L311 
 
 
 
 
 
 
 
 
 

L312 L313 
 
 

L316 

L314 2x
 

L315 
 

18 
 
 

L316 
2x 

 
 
 
 
 
 
 
 
 
 
 

M8 x 40 
2x 

 

Bij droog weer moeten alle bouten en schroeven opnieuw aangespannen worden. 
Par temps sec il faut resserrer régulièrement toute la visserie. 

20 By dry and warm weather check the tightness of all bolts and screws. 
Bei trockenem Wetter müssen alle Schrauben und Bolzen aufs neue angespannt werden 
Para el tiempo seco, se necesita cerrar o ajustar los tornillos y tuercas. 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

. 


